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\/ Interpretation rgb > rgb* and CIELAB data of a 48 step elementary hue circle Interpretation rgb —> rgb* and CIELAB data of a 48 step elementary hue circle
c g (%] for a SRGB standard display with the luminance reflectiori,=5% compared to the white reference (100%) for a SRGB standard display with the luminance reflectiori,=20% compared to the white reference (100%)
o g 48 step elementary hue circle with hues2JCGB: hy, o= 25.5,92.3, 162.2, 271.7, and M’ = 217.0, 328.6 48 step elementary hue circle with hues2)CGB: hy, o= 25.5,92.3, 162.2, 271.7, and M’ = 217.0, 328.6
= ‘comparison with six device hue VM: hgp = 31.9, 103.7, 137.6, 196.6, 302.8, 327. ‘comparison with six device hueYL CVM: hgy o = 25.0, 105.5, 140.5, 197.2, 297.3, 0
50 9 step equidistant grey scalet* = 26.8, 35.4, 44.0, 52.6, 61.1, 69.7, 78.3, 86.8, 95.4. 9 step equidistant grey scalet* = 52.0, 57.4, 62.9, 68.3, 73.7, 79.1, 84.6, 90.0, 95.4.
o= ||rwe e ovue AUAZ b > rgbia o 19b > 1gbs Una Mgy OVma AUAZ 190 > rgbsa Wua 19b > rgbes
8Q. ||ngrr 300 10 00 _oz01 063 0354 100000000490 oo 0856 000010001000 |00°R 300 10 004 00 0645 0355 100000000000 ¢ 0798 000010001000
=35 T2 36 10 013500 0921 007 LO0001250.000 c'i2h 0.124 00000875 1.000) M2 366 10 031100 0515 0485 100001250000 c'12b 0.067 0.0000.675 1.000|
S'®  |[es 439 10 033 00 0357 0643 100002500000 c25b 0373 0.0000.750 1.000| 25 439 10 042500 0599 0.401 100002500.000 c25h 0317 0.0000.750 1.000|
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S ||ew 1200057310 00 058 0414 050010000000 psom 0522 05000000 1.990 js0g 1200065 10 00 0.9 0802 050010000000 B0M 3000078 U0 10 BRI D39 OO
O X || 12 003810 00 _0sss 012 037510000000 BEA—BT 0TS TO DT ORT OEROBOION  |i62g 1282 039710 00 018 082 07510000000 beam 302 05900 10 0608 0992 06250000 1000
== 750136100 10 0395 0836 0164 0.25010000.000 b75m' 3161 0.65500 10  0.761 0.239 0.7500.000 1.000| 750136100 10 0349 021 079 025010000000 b75m' 3161 0.72800 10  0.176 0.824 0.7500.000 1.000|
@ j879 1434 00 10 0581 0352 0648 0.12510000.000 b&7m' 3234 0.84500 10 0238 0762 0.8750.000 1.90| /879 1434 00 10 0575 0.402 0598 0.12510000.000 b&7m 3234 0.88400 10 0926 0074 0.8750.000 1.090|
O ||g00c=6 1500 00 10 0707 0347 0653 000010000000 MOU-MI L0 0O 0985 0BL 0119 100000001000 000G 1500 00 10 0.708 0.338 0,662 0,000 10000.000 MO0 00 097 0756 0244 100000001000
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S ® @5¢ 1639 00 10 0847 0221 0779 000010000250 m25r 3439 10 00 0737 0,895 0105 10000.0000.750) @5¢ 1639 00 10 0848 0216 0.784 000010000250 m25 3439 10 00 074 0918 0082 100000000750
v B @7 171800 10 0903 0.779 0221 000010000375 M3 IS8 10 00 0646 017 083 100000000625\  [gIc 171800 10 0502 0785 0215 DOUOLODO3TS MAM LS Lo 0O OS5I 0207 0.793 100000000625
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o® Interpretation rgb —> rgb* and CIELAB data of a 48 step elementary hue circle. Interpretation rgb —> rgb* and CIELAB data of a 48 step elementary hue circle.
== for a SRGB standard display with the luminance reflectiorl, =10% compared to the white reference (100%) for a SRGB standard display with the luminance reflectiorl,=40% compared to the white reference (100%)
>0 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6
=3 ':_!: ‘comparison with six device hueYL “VM: hgy . = 28.5, 104.4, 138.8, 196.8, 300.4, 327.6 ‘comparison with six device hueYL CVM: hgy o = 21.9, 107.3, 142.4, 197.9, 293.8, 326.1
S 9 step equidistant grey scalet* = 38.0, 45.2, 52.3, 59.5, 66.7, 73.9, 81.1, 88.2, 95.4 9 step equidistant grey scalet* = 69.7, 72.9, 76.1, 79.3, 82.6, 85.8, 89.0, 92.2, 95.4.
=3 Una Mgy OVua AUAZ 19b > rgbga Wra Mgy OVua AUAZ 19b > rgb'iua ~ " A 1gb > rgbya Wra Mgy OVua AUAZ 19b > rgbua
=X 00 300 10 00 0147 0179 0.821 1.00000000.90 ¢00b=C'210.0 0.0 0.896 10  0.165 0.835 0.0001.0001. 00FR 300 10 020200 038 062 10000.0000000 c00b=C'210.0 0.0 0908 10 0261 0.739 0.0001.0001.
WM ||m e 10 022300 005 0941 100001250, 2 216600 0862 10 0896 0.104 0.0000.751000) 2 10 0376 00 099 0006 100001250000 c12b 2166 0.0 0874 10 099 0004 0,0000.875 1000
(=)o) 439 10 0383 00 0934 0066 100002500000 c25b 2239 0.0 0831 10  0.647 0353 0.0000.750 1.000| 25 439 10 0468 00 0259 0.741 10000.2500.000 c25b 10 0743 0.257 0.0000.750 1.000]
=y 518 10 0477 00 0186 0.814 100003750000 ¢37b 2318 0.0 08 10 0397 0.603 0.00006251.000 37 518 10 054200 0664 0336 100003750000 c37b 10 049 051 000006251000
S 600 10 055500 0557 0.443 100005000000 c50b 240.0 00 0769 10  0.148 0.852 0.0000.500 1.000| 50j 600 10 0607 00 0.145 0.855 10000.5000.000 c'500 10 0238 0.762 0.0000.500 1.
5= %52 T0 0a5 00 0o 0031 100006250000 cath 2482 00 0704 10 037 013 000005731000 |9 662 10 0600 08 03 10005050000 ceon 10 0a79 0021 00000373 1000
©om 761 10 088900 0406 0994 100007500000 TS 2561 00 0694 10 OS5I 0449 000002801000 |15 764 10 072300 0213 0767 100007500000 cTSb 10 oG 03 000002501000
ge ¢ 10 077300 08I 0182 10008750000 CTD 2694 00 0G5 10 0292 0768 00001251000 |7 84 10 078500 0722 0278 100008750000 cBTH 0 02610789 00000125 1000
Ny ioog=3 900 10 0169 0831 1,000 1.0000.000 b00M 0862 0138 0,000 0,000 1.000| j00g=) 900 10 085 00 0201 0.799 10001.0000.000 bOOM 10 0835 0.165 0.0000.000 1.000|
k=) 12g 966 10 0958 0.0 _0.336 0.664. ﬂsvalonacqgo b12m 0341 0,659 0.125 0,000 1.000| 129 966 10 0034 00 0531 0.469 08751.0000000 bi2m' 10 0.125 0,000 1.000|
=z M obo b2sm 0.705 0295 0.250 0,000 1.000] 59 a 25m' 2839 0.0 0.407 10 0.250 0,000 1.000|
| & |[re 1msomiio 0o 02w 0756 062510000000 b3TM 0748 0251 03750000 1.000f 79 1118084910 00 079 021 062510000000 b3Tm 00 0131 10
&7 |lsw 100060710 00 0856 0144 050010000000 bsom 0223 0777 050000 1q|  |g 1200070110 00 0505 0384 050010000000 FHT—ITTTEITT TS o
= o ||szg__1282 030910 00 0475 0525 0.3751.0000.000 Bozw 3082 047500 10 0Z 08 0500001 f62g 1282 0.48410 00 0872 0128 037510000000 bozm' 3082 062500 10 000L 0.999 06250000100
o X 75g 1361 00 10 0382 0043 0.057 0.25010000.000 b75m' 3161 0.68600 10 0512 0.488 0.7500.000 1.000| 759 1361 00 10 0285 0710 0.281 0.25010000.000 b75m 3161 077600 10  0.796 0.204 0.7500.000 1.000|
S5 ||m 400 10 o5 0ar 03 012510000000 poTm 3224 086100 10 0111 05 0700001 |j7g 1434 00 10 0568 0.453 047 012510000000 b7 3234 091300 10 0692 0308 087500001000
@ = ||o00c=c 1500 00 10 0707 0344 0656 000010000000 MOUMI0O L0 0O 0879 0834 0166 100000001000 §006=G 1500 00 10 0709 0328 0672 009010000000 OO 00 055 0645 0354 100000001000
S°0 |[aze 156600 10 0764 0732 0268 000010000175 mix 3366 10 00 0845 0.763 0237 100000000875 |gizc 156600 10 0786 0714 0285 00001000025 mix 3B 10 0O 0841 0.125 0275 100000000875
X () |[amc 163900 10 084 0219 0781 000010000250 m2sr 3M39 10 00 0738 0904 008 100000000750 |g2%c 1639 00 10 08O 0211 0789 000010000250 m25r 3439 10 00 0742 0538 0062 100000000750
@7C 171800 10 0902 0.781 0219 000010000375 M3 IS8 10 00 0648 0165 0815 L00000000G2S|  [gIC 171800 10 0501 0.792 0208 DOOOLODO3TS A ISLS Lo 0O 0654 0236 0.764 10000000025
Goc 10000 10 09 0010000500 50 %600 10 00 0565 0517 0483 1000000005 G0 180000 10 0946 0.434 0566 000010000500 ME 300 10 00 0565 053 000000500
5621882 00 10 09% 0059 0991 000010000475 mGar 62 10 00 04S2 0859 0141 100000000375 |g6zr 186200 10 099 007G 0924 0O00LO000GZS mG2r 360210 00 0474 079 021 1000000003TS
375156100 0866 10 073 0769 000010000750 mTSt 76110 00 0397 0176 0826 100000000750 |o75¢ 96100 0974 10 0761 0709 0000000050 mT 6110 0O 0367 0933 0062 100000000250
G7C 2034 00 031 10 0448 0552 000010000875 mBN 3634 10 00 0295 0357 0643 100000000125 |g87c 2034 00 041 10 0526 0474 0000LO000STS MG 3834 10 0O 0201 0507 0353 100000000125
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TUB-test chart KE91; 48 step SRGB elementary hue circle input: rgb->rgb* setrgbcolor
i — * k. .
g Interpretatiorrgb —> rgb andolv* data of colours Ma output:no change compared to input
— Y T

&é m

4
=




